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1] FRETHHEE 0.05 - 0.07 -
| 2] Ao HhH#E 0.05 - 0.06 -
| 3 AHREEEIILY 0.05 - - -
4 0g4m SEEERER 0.06 - 0.05 -
sl EEREM 0.05 0.05 0.05 -
| 6] B KBRER 0.05 0.05 0.05 -
7 E IKEARB AT 0.05 0.05 0.05 -
8 R |[OFELYREE 0.05 - 0.05 -
9 BEREM 0.05 0.05 0.06 -
| 10 MEFHHE 0.05 - 0.05 -
| 11| 10A5H BB HE 0.06 - 0.06 -
| 12 HRNEREM 0.05 0.05 - -
13 EIEHE 0.06 - 0.06 -
| 14] a  [RENEFRT 0.05 - 0.05 -
:7 10B11E f:(lg: p_t?ﬂhf’: s 2l 0.05 0.06 0.06 -
| 16, = |- RREH 0.05 0.06 - 0.06
17 KIHREFR 0.06 0.07 0.06 -
| 18, AIREM 0.06 0.05 0.05 -
| 19 q  |BREEMR 0.05 0.05 0.05 0.05
%(1) 108108 E iliﬁﬁ’:’ém_ 0.06 0.05 0.05 -
| 21] = AT S R B AT 0.05 0.05 - 0.05
| 22 MFERER 0.06 0.05 0.06 0.05
23 BEXREmR 0.05 0.05 0.06 0.06
24 omtiE | me BAEFTEERER 0.06 0.06 - -
2 HELHE 0.06 - 0.06 0.05
| 26 T |[wErREmR 0.06 0.06 0.06 0.06
| 27| 10A3H ﬁ TERER 0.06 0.05 0.05 0.06
28 R [HIIRER 0.06 0.05 0.06 0.06
29 10A28 | HE |HEMRRER 0.06 - - -
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